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SOCIOLOGY
Paper - Il
1. Who suggested that conflict has a 4. Which of the following Committee

functional importance in society ? recommended in 1986 for the
(A) Karl Marx Constitutional status of the Panchayati
(B) Randall Collins Raj ?
(C) Ralph Dahrendorf (A) Balwant Rai Mehta Committee
(D) Lewis Coser B) Ashok Mehta Committee

2. Which of the following is/are true about
Pressure Groups ?

i. Group of people who are organized
actively for promoting and defending

(
(C) Swaminathan Committee
(D) L. M. Singhvi Committee

5. Who viewed modernity as an unfinished

their common interests. project ?
ii. It is vital link between government (A) H. Garfinkel

and governed. (B) L. Althuser
iii. Itis a group within a single political

party with divergent interests and (C) J. Habermas

viewpoints. (D) A. Giddens
iv. Itinfluences government and public

policy. 6. Technological factor is treated as a part
Select the correct answer from the of cultural factor by whom ?
codes given below : (A) Maclver and Page
i°°';sl: o (B) Gillin and Gillin

nly i an
EB; Onlz :ii and":v (C) Pitirim A. Sorokin
(C) Only i, il and i (D) Talcott Parsons
(D) Onlyi, i and iv 7. Which of the following Indian State
has highest population (in numbers) of
3. The book ‘Caste, Class and Power’ is Scheduled Tribe in Census 2011 ?
written by whom ? .
A) Odisha

(A) Andre Beteille A
(B) Kathleen Gough (B) Madhya Pradesh
(C) Yogendra Singh (C) Gujarat
(D) Dipankar Gupta (D) Rajasthan
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8.

10.

11.

12.

The term ‘ecofeminism’ is associated
with which Scholar ?

(A) Sharmila Rege
(B) Bina Agarwal
(C) Vandana Shiva
(D) Leela Dube

According to Max Weber, ‘Verstehen’
means

(A) Understanding
(C) Analysis

(B) Explanation
(D) Elaboration

A woman executive presides over a
management board meeting, picks
up her daughter from her school and
goes to play a game of bridge in the
ladies club. Which phenomenon she
is manifesting ?

(A) Role playing (B) Style of life
(C) Status-set (D) Elite status

Which among the following was
not debated by David Held and his
colleagues as a broader school of
globalization ?

(A) Hypo-globalizer

(B) Hyper globalizer
(C) Sceptics

(D) Transformationalists

Who had made the distinction between
ideology and utopia ?

(A) K. Mannheim (B) C. W. Mills
(C) G. Simmel (D) T. Adorno

Paper Il

13.

14.

15.
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Who among the following was the first to
use participant observation method ?

(A) Harold Garfinkel
(B) Oscar Lewis

(C) William F. Whyte
(D) Morris Ginsberg

Who has categorized the Indian Agrarian
Society into Malik, Kisan and Mazdoor ?

(A) Daniel Thorner
(B) S. C. Dube
(C) Robert Redfield
(D) A.R. Desai

Match List — | with List — Il and select
the correct answer from the codes given
below the lists :

List -1 List -1l
(Concepts) (Authors)
i. Urbanism 1. Oscar Lewis
ii. Folk-urban 2. L. Wirth
continuum
iii. Little tradition 3. R. Redfield
and great
tradition
iv. Culture of 4. Milton Singer
poverty
Codes :
i i il iv
(A) 4 3 2 1
B) 2 3 4 1
c 3 1 4 2
(D) 2 4 1 3

37-A
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16. Andre Beteille has used the following 19. Who among the following held the view
method in his work that family is an ideological conditioning
(A) Experimental method device in an exploitive society ?
(B) Field method (A) David Cooper
(C) Standardisation (B) Edmund Leach
(D) Panel study (C) Friedrich Engels
(D) R.D. Laing

17. Given below are the names of three

significant works.
9 n 20. Match List — | with List — II.
i. System of Consanguinity and

Affinity of the Human Family. List-1 List—1I
ii. African Systems of Kinship and (Authors ) (Books)
Marriage. a. |. P. Desai 1. Household
iii. Kinship Organisation in India. Dimension of
The authors of the above three works Family in India
are respectively : b. A.M.Shah 2. Marriage and
(A) Tylor, Karve and Gough Family in India
(B) Rivers, Morgan and Gough c. K. M. Kapadia 3. Urbanisation
(C) Morgan, Radcliffe Brown and and Family
Karve d. M. S. Gore 4. Some Aspects
(D) Radcliffe Brown, Karve and Lowie of Family in
18. Which of the following are involved in Mahuwa
the formation of nuclear family ? 5. World
i. Fictive relationship Revolution and
ii. Affinal relationship Family Pattern
iii. Ritual relationship Select the correct answer from the
iv. Consanguinal relationship codes given below :
Select the correct answer from the Codes :
codes given below : a b ¢ d
Codes :
(A) i, ii and iii A 4 1.2 3
(B) i, ii and iv B 4 5 2 3
(C) iiand iv C) 1 4 5 2
(D) iand iv (D) 3 5 4 2
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22,

23.

24.

25.

Who viewed that the electronic media
tends to create ‘global village’ in which
people throughout world see major
events unfold and hence participate in
them altogether ?

(A) Thomas Luckman
(B) M. McLuhan

(C) L. Mumford

(D) T. Hughes

The book ‘The Virtual Community ’ in
1993 is authored by

(A) Robert Putnam

(B) Howard Rheingold

(C)

(D)

Manuel Castells
David Riesman

Urmila Phadnis has contributed
significantly in which broader area ?

(A) Farmers Movement in India

(B) The construction of colonialism in
South India

(C) Ethnicity and nation building in
South Asia

(D) Electoral participation of minorities
Which of the following is an example of
ascribed status ?
(A) Husband
(C) Brahmin

(B) Mother
(D) Doctor

Who among the following does not
belong to Chicago School in relation to
Urban Sociology ?

(A) Robert Park

(B) F. Tonnies

(C) Ernest Burgess
)

(D) Louis Wirth
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Find out from the following which is a
useable hypothesis.

(A) One which has a probability of
tentative generalization

(B) One which embodies a moral
judgement

(C) One which is expressed in such
general terms so as to have very
broad scope of study

(D) One that is based on a subject that
is of researcher’s interest

Given below are two statements, one
labelled as Assertion (A) and the other
one is Reason (R).

Assertion (A) : Green revolution in India
instead of removing the earlier class
based inequalities generated further
inequalities.

Reason (R) : As the benefits of green
revolution was proportionate to resource
ownership position, large farmers
appropriated the lion’s share of the
new measures in relation to marginal
farmers.

In the context of the above two

statements, which among the following

is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of A

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

37-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

o

28.

29.

30.

37 -

Who among the following viewed
“Urbanism as a way of life” ?

A) George Simmel
B)
(C)
(D)

—_~~ o~

Ferdinand Tonnies
Louis Wirth
Robert Park

Match the following.

List -1 List -1l
(Authors) (Books)

a. Max Weber i. The Urban

Question

b. George ii. The Urban
Simmel Experience

c. Manuel iii. The Metropolis
Castells and Mental Life

d. David Harvey iv. The City

Choose the correct answer from the
codes given below :

Codes :

a b c¢c d
(A) iv i i i
(B) i i i v
(C) i i v
(D) iv i i i

Concentric zone theory was propounded
by whom ?

(A) Ernest Burgess

(B) Robert Park

(C) Kingsley Davis

(D) William F. Whyte

A

31.

32.

33.

34.
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Weber’s thoughts on Verstehen
were rooted in which of the following
approach ?

(A) Symbolic interactionism
(B) Scientific method
(C)
)

(D) Hermeneutics

Dialectical method

Who in his discourse analysis has
argued that it is knowledge which in
one’s power and who so ever has power
has ability to create knowledge ?

(A) Jurgen Habermas
(B) Michel Foucault
(C)

(D) Anthony Giddens

Pierre Bourdieu

When a whole way of life is in the
process of change under the influence
of another culture, we call it as what ?

(A) Counter Culture
(B
(C
(D

)
) Diffusion

) Assimilation
) Socialization

Kinship Map of India was developed by
whom ?

(A) Kathleen Gough
(B) Louis Dumont
(C)

(D) K. M. Kapadia

Irawati Karve

Paper Il
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35.

36.

37.

According to Muslim Law, ‘Mehar’
means

(A) The amount fixed at marriage to
be paid to the bride in case of
divorce

(B) The charges for the marriage
ceremony paid to the religious
priest

(C) Penalty paid to the community for
ill-treating the wife

(D) Penalty paid by the wife for deserting
the husband

Who is not associated with study of
culture ?

(A) A. L. Kroeber (B) A. Etzioni
(C) R.Benedict (D) E. B. Tylor

Match List — | with List — II.

List—1 List -1l

(Movements) (Leaders)

i. Bodo 1. E.V. Ramasamy
Movement

ii. Munda 2. Upendranath
Rebellion Brahma

iii. Chipko 3. Birsa Munda
Movement

iv. Self-respect 4. Sunderlal
Movement Bahuguna

Select the correct answer from the
codes given below :

Codes :

i i i v
(A)1 3 4 2
B3 1 4 2
C)2 1 4 3
(D)2 3 4 1

Paper Il
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A status that has special importance for
social identity, after shaping a person’s
entire life is known as

(A) Ascribed status
(B) Achieved status
(C) Master status

(D) None of the above

Arrange the occurrence of the following
technological revolutions in chronological
order from the earliest to the latest.

i. Printing revolution

ii. Green revolution

ii. Industrial revolution

iv. Bio-technological revolution
Choose the correct answer from the
options given below :
(A) i, i, iii, iv (B) i, iii, ii, iv
(C) v, i, iii, i (D) v, iii, i, ii
Who viewed cultural system as ideational
and sensate ?
(A) E.B. Taylor (B) W.F. Ogburn
(C) P. A. Sorokin (D) R. M. Maclver

Who among the following wrote the
book “The Coming of Post-Industrial
Society” ?

(A) Elton Mayo (B) Daniel Bell
(C) Wallace Smith (D) Alvin Toffler

Who among the following conducted the
Hawthorne Experiments ?

(A) Manuel Castells
(B)
(C) Erving Goffman
(D) Milton Singer

Elton Mayo

37-A
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43. The research method used in the work

44,

45.

of Louis Dumont is

(A) Statistical evidence
(B
(C
(D

Experimental method
Indological evidence

~— N~ N

Evaluation research
Who propounded the concept of
Kula ring ?
(A) A. R. Radcliffe Brown
(B) Claude Levi-Strauss
(C) Bronislaw Malinowski
)

(D) Marcel Mauss

Match List — | with List — 1.

List -1 List =1l
a. Survey i. Controlled

research conditions
b. Experimental ii. Mailed

research questionnaire

c. Field research iii. Land records

of colonial
India
d. Archival iv. Participant
research observation

Select the correct answer from the
codes given below :

Codes :
a b ¢ d
(A) i v i
(B) i i i v
(C) iii v i i
(D) iv i iii
37-A
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Which sociologist prepared a paradigm
for functional analysis ?

(A) Talcott Parsons

(B) Robert K. Merton

(C) Radcliffe Brown
)

(D) Bronislaw Malinowski

In the work of Manuel Castells, dual city
refers to

(A) New York and Los Angeles
(B) Sao Paulo and Brasilia
(C) New York and Sao Paulo

)

(D) Los Angeles and Brasilia

Which of the following is true about
Giddens’ Sociology ?

i. Giddens describes the modern
world as a ‘juggernaut’.

ii. Giddens sees the self as dialectically
related to the institutions of modern
society.

iii. Reflexivity is the dynamic character
of modernity.

iv. Giddens accord greater power to
structure than agency.

Select the correct answer from the
codes given below :

Codes :
(A) Onlyiandii
(B) Only i, ii and iii
(C) Only ii, iii and iv
(D) Only ii and iii
Paper Il
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49.

50.

51.

52.

Arrange the following works of Foucault
in their chronological order.

i. History of Sexuality.

ii. Madness and Civilization : A History
of Insanity in the Age of Reason

iii. The Birth of Clinic.

iv. The Archaeology of Knowledge.
(A) i, ii, iii, iv (B) ii, iii, iv, i

(C) i, iii, i, iv (D) v, iii, ii, i

The process of discarding previous
behaviour patterns and accepting new

ones as part of a transition in one’s life
is called as

(A) Primary socialization

(B) Anticipatory socialization
(C) Resocialization

(D) Adult socialization

What did McKim Marriot call the process
of change when indigenous customs,
deities and rites spread from the local
village settings to the larger societal
level ?

(A) Parochialization

(B) Sanskritization

(C)

(D)

Diffusion
Universalization

The work of “Pre-industrial City : Past
and Present” was developed by

(A) Saint Simon
(B) Kingsley Davis
(C) Gideon

(D) Robert Park

Paper Il
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Which social thinker out of the
following has propounded the
Doctrine of Trusteeship ?

(A) Raja Ram Mohan Roy

(B) M. K. Gandhi

(C) B. R. Ambedkar

(D) Madan Mohan Malaviya

Land reform is included in which Schedule
of the Indian Constitution in 1976 ?
(A) Eleventh (B) Fourth

(C) Ninth (D) Seventh

In which year Community Development
Programme (CDP) was started in India ?
(A) 1947 (B) 1952
(C) 1955 (D) 1957

According to Vandana Shiva, which is
the main basis for the growth of
eco-feminism ?

(A) Global warming

(B) Women'’s lives and their relation
with the nature

(C) Deforestation in industrial society

(D) Pollution and environmental
degradation

A cluster of behaviour patterns related
to the general culture of a society and
yet distinguishable from its behaviour
patterns of a distinct group within the
general society is called

(A) Mores

(B) Values

(C) Counter culture

(D) Sub culture

37-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

o

58.

59.

60.

The concept of Deschooling Society
was propounded by whom ?

(A) E. Durkheim
(B)
(C)
(D)

Ivan lllich
T. B. Bottomore
E. Sutherland

The book Power Elite was written by
whom ?

(A) Ralph Dahrendorf
(B) C. Wright Mills

)
(C) V. Pareto
(D) Lewis Coser
Match the following lists.
List -1 List -1l
(Books) (Authors)

i. Hindu Society : 1. Irawati Karve

An Interpretation

ii. Religious 2. M. N. Srinivas

Consciousness

iii. States and
Minorities

3. G. S. Ghurye

Indian Society 4. B. R. Ambedkar
through
Personal

Writings

Select the correct answers from the
codes given below :

Codes :
i i i v
A)1 3 4 2
B2 1 4 3
C)3 4 1 2
MDd)y4 3 1 2
37-A
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According to whom the science of
economics should include not only
economic theory but also economic
history and economic sociology ?

(A)
(B)
)
)

Karl Marx
Emile Durkheim
(C) Max Weber

(D) Karl Popper

“The Philosophy of Money” is the work
of whom ?

(A) G. Simmel

)
(B) A. Tocquieville
(C) C. Montesquieu
(D) J. Schumpeter

Which of the following is authored by
Karl Polanyi ?

(A) The Great Transformation
(B) Democracy in America
(C)

(D) The Wealth of Nations

Spirit of Laws

A study design involving collection of
data at one particular point of time is
known as

(A) Trend study
(B) Synchronic study
(C) Cohort study
(D) Longitudinal study

Paper Il
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65. Identify the correct sequence from the

following steps of Social Research.
i. Data collection and analysis
ii. Selection of a research method
iii. Formulation of a hypothesis
iv. Report writing
v. Defining the problem
Select the correct answer from the

following :

(A) i, iii, v, iv, i
(B) v, iii, i, i, iv
(C) i, i, iii, iv, v
(D) v, ii, iii, i, iv

66. Who coined the term “Mores” ?
(A) Kingsley Davis
(B) W. G. Sumner
(C) Maclver
(D) Johnson

67. The idea of ‘culture of poverty’ was
introduced by whom ?

(A) Oscar Lewis
(B) Friedrich Hegel
(C) Karl Marx

(D) W. McDougall

68. Which is not a form of social
stratification ?

(A) Caste

(B) Class

(C) Gender
)

(D) Religion

Paper Il
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Who defined class as ‘when a number of
people have in common, a specific causal
component of their life chances’ ?

(A) M. Weber
(B) A. Gramsci
(C) K. Marx
(D) F. Hegel

Arrange the four Ashrams in Hindu way
of life in correct sequence.

i. Vanaprastha Ashram
ii. Grihastha Ashram

iii. Brahmacharya Ashram
iv. Sanyas Ashram

Choose the correct answer from the
options given below :

(A) i, iii, iv, ii
(B) iii, i, i, iv
(C) iii, i, ii, iv
(D) i, i, iii, iv

Who among the following was of the view
that all people think of the world around
them in terms of binary opposites ?

(A) Levi Strauss

(B) G. H. Mead

(C) Harold Garfinkel

(D) Karl Mannheim

Who among the following contribute to
cyclical theory of social change ?

(A) K. Marx

(B) L. T. Hobhouse

(C) V. Pareto

(D) H. Spencer

37-A
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73.

74,

75.

76.

77.

78.

Which of the following concept was not
developed by Bourdieu ?

(A) Field (B) Structure

(C) Doxa (D) Habitus

Who among the following sociologists
used Marxist framework to understand
Indian society ?
(A) A. K. Saran
(C) A. R. Desai

(B) S. C. Dube
(D) G. S. Ghurye

The concept of ‘Environmental Refugees’
was introduced in 1923 by whom ?

(A) Bina Agarwal
(B) Lester Brown
(C) Vandana Shiva
(D) Paul Sears

According to E. Wolf, which component
of peasantry possess sufficient leverage
to enter into sustained rebellion ?

(A) Middle peasantry
(B) Agricultural labourers
(C) Small peasantry
(D) Marginal farmers

The book “India’s Green Revolution :

Economic Gains and Political Costs” is
authored by whom ?

(A) F. R. Frankel

(B) T.B. Smith

(C) T. K. Oommen

(D) C. H. Hanumantha Rao

Who among the following is not
associated with the debate over mode
of production in Indian agriculture ?

(A) Utsa Patnaik
(B) Paresh Chattopadhyaya
(C) Andre Beteille
(D) Ashok Rudra

37-A
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Which of the following Peasant
Movements was overshadowed by
Religious Movement ?

(A) Tebhaga Movement
(B) Telangana Movement
(C) Moplah Rebellion

(D) Naxalbari Movement

The act of inferring how a given general
principle would apply in a particular
situation is called

(A) Situation analysis

(B) Deduction

(C) Verification

(D) Induction

Who amongst the following has
focused on Post-Industrial Society ?

(A) Oscar Lewis
(B) Robert Redfield
(C) Daniel Bell

(D) G. Simmel

Assertion (A) : Ecology movements
are emerging from conflict over natural
resources and people’s right to survival.
Reason (R) : Population increase

is responsible for the depletion of

natural resources and environmental
degradation.

Choose the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Paper Il
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84.

Who used the term “dyad” to designate
a social group with two members ?

A) S. A. Stouffer
B) George Simmel
C) C. H. Cooley
(D) Peter Blau

(
(
(

Match List — | with List — Il and select the
correct answer using the codes given
below the lists :

List -1 List -1l
(Acts) (Years)
a. Dowry Prohibition i. 1986

Act

b. Protection of Women ii. 1961
from Domestic

Violence Act
c. The Sexual iii. 1996
Harassment of
Women at Workplace
d. The Indecent iv. 2005
Representation of
Women (Prohibition)
Act
v. 2013
Codes
a b ¢ d
(A) i i v oiv
B) i iivo i
(C) v v i i
(D) i v v i

13

85.

86.

87.

GET IT ON
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Total Number of Pages : 16

Intergenerational mobility for the blue
and white collar workers of Britain in
1950 was analysed by whom ?

(A) Charles Murray

(B) C. W. Mills

(C) David Glass

(D) K. Marx

Who has made a distinction between
social structure and social organization ?

(A) R. K. Merton
(B) V. Pareto
(C)

(D)

Radcliffe Brown

M. N. Srinivas

Match List — | with List — II.

List -1 List -1l
(Books) (Authors)
i. Indian Village 1. M. N. Srinivas
ii. India’s Village 2. S. C. Dube
iii. A Rajasthan 3. McKim Marriot
Village

iv. Village India 4. B. R. Chauhan

Select the correct answer from the
codes given below :

Codes :

i i iii iv
(A) 1 3 4 2
(B) 3 1 4 2
(C) 2 1 4 3
(D) 4 3 1 2
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88.

89.

90.

Which of the following characteristics
of bureaucracy was not discussed by
Weber ?
i. Hierarchy of authority
ii. Impersonality
iii. Division of labour
iv. Employment based on personal
relations
Select the correct answer from the
codes given below :
Codes :
(A) Only ii (B) Only iv
(C) Bothiiandiv (D) Only iii

Who found an epistemological break
between Marx’s early philosophical
work and his later scientific theories and
knowledge ?

(A) J. Habermas (B) M. Foucault

(C) G. Simmel (D) L. Althuser
Match the items in List — | with List — II.
List -1 List-1I

(Authors) (Books)
i. Simonede 1. Sex, Gender
Beauvoir and Society
ii. Ann Oakley 2. Gender Trouble :
Feminism and
the Subversion
of ldentity
iii. Shulamith 3. The Dialectic of
Firestone Sex : The Case
of Feminist
Revolution

iv. Judith Butler 4. The Second Sex

Select the correct answer from the
codes given below :

NG gy
NDWWN =
S SN AR

14

91.

92.

93.

GET IT ON
Google Play

Total Number of Pages : 16

A method of sampling in which sample
elements are selected as they are
identified by successive informants or
interviews, is called as

(A) Snow ball sampling
(B) Availability sampling
(C) Cluster sampling
(D)

D) Purposive sampling

Who among the following was the first
to use case study method as a main tool
in sociological research ?

(A) F. G. Bailey
(B) E. B. Taylor
(C) F. Le Play
(D) L. H. Morgan

Assertion (A) : Formulation of a
hypothesis is not an essential element
of qualitative research.

Reason (R) : Qualitative research aims
for theory building.

Choose the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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94. Assertion (A) : Upward mobility among 97. Which of the following crisis is not
lower castes is facilitated by the process discussed by Habermas ?

of Sanskritisation.

Reason (R) : Sanskritisation leads to (A) Economic crisis

the positional change of the members (B) Religious crisis
of lower castes. o o
Choose the correct answer from the (C) Legitimation crisis
codes given below : (D) Rationality crisis
Codes :
(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A) 98. E. H. Sutherland has discussed which
(B) Both (A) and (R) are true and (R) is type of Crime ?
the correct explanation of (A) (A) White Collar

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true (B) Organized Crime

)
(C) Pink Gang
95. ‘Sociometry’ is associated with the )

name of (D) Blue Collar
(A) J.L. Moreno
(B) P.V. Young 99. Which of the following is not a Scheduled
(C) Goode and Hatt Tribe ?
(D) V. Pareto (A) Bhils
96. Match the following lists. (B) Santhal
List -1 List -1l .
(Concepts) (Sociologists) (C) Angami
i. Role Set 1. E. Goffman (D) Kahar
ii. Role Distance 2. R. K. Merton
iii. Status 3. R. Linton . )
Inconsistency 100. The captain of a ship who does not
iv. Achieved Status 4. G. Lenski choose to survive its loss commits
Select the correct answers from the suicide is an example of
givenbelow: (A) Egoism
i i i v
(A)1 3 4 2 (B) Altruism
(B)y 2 1 4 3 (C) Fatalism
(C)3 4 1 2 .
M4 3 1 2 (D) Anomie
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